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Solving Sequence
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* 1 irreducible components of dim¢ = 0, with total 57 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(iii) Cusp Shapes = 4u56 + 4u® + ... —4u? + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Ce WU -1
Co W 2T b — 1
€3 ST 4 TuPS 4 49u + 5
€4, C5, Cy W= 4 fu—1
cr uST — % 4 4231w — 53
€8, C10 w4+ u 4 —29u — 17
ci1 u?" + 5u”0 + - — 264u — 112




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C6 T 2Ty 4y — 1
Co T T+ — 3y —1
€3 y*T + 3y 4. — 519y — 25
C4,Cs, Cy T ATy oy -1
cr y°T —13y°% + ... + 82617y — 2809
cs, C10 y°T = 37y°C + ... — 1267y — 289
11 y°7 4+ 1550 + ... — 381664y — 12544




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
u = —0.277649 + 1.1380107 —2.98923 — 1.152161 0
u = —0.277649 — 1.1380101 —2.98923 + 1.152161 0
u = —0.343977 + 1.1202701 —0.58525 + 6.083431 0
u = —0.343977 — 1.1202701 —0.58525 — 6.083431 0
u = —0.804549 + 0.1255131 2.43881 — 10.273601 7.12723 + 7.982521
u = —0.804549 — 0.1255137 2.43881 + 10.273601 7.12723 — 7.982521
U 0.337618 + 1.1405407 1.53395 — 1.089771 0
u = 0.337618 — 1.1405401 1.53395 + 1.089771 0
uw= 0.799720 + 0.1138271 4.65256 + 5.234051 10.45155 — 4.028101
uw= 0.799720 — 0.1138271 4.65256 — 5.234057 10.45155 + 4.028101
uw= 0.797777 + 0.0768631 5.78308 + 2.966341 12.01643 — 3.847381
u= 0.797777 — 0.0768631 5.78308 — 2.966341 12.01643 + 3.847381
u = —0.798784 + 0.0532171 4.63483 + 1.873631 10.12440 — 2.275091
u = —0.798784 — 0.0532171 4.63483 — 1.873631 10.12440 + 2.275091
u = —0.771308 4 0.1225097 0.04467 — 2.730281 4.01382 4 2.718731
u = —0.771308 — 0.1225097 0.04467 4 2.730281 4.01382 — 2.718731
u = 0.342759 4 1.1891401 2.38357 4+ 1.161681 0
uw = 0.342759 — 1.1891401 2.38357 — 1.161681 0
u = —0.348811 + 1.2125507 1.07430 — 6.016911 0
u = —0.348811 — 1.2125501 1.07430 + 6.016911 0
u = —0.052037 + 1.2913301 —3.68835 — 1.963061 0
u = —0.052037 — 1.2913301 —3.68835 + 1.963061 0
u = —0.266975 + 1.3046001 —2.86692 — 3.282241 0
u = —0.266975 — 1.3046007 —2.86692 + 3.282241 0
u = 0.236806 + 1.3244901 —5.56866 — 0.847751 0
u = 0.236806 — 1.3244901 —5.56866 + 0.847751 0
u = —0.346838 + 1.3014607 0.40457 — 2.252311 0
u = —0.346838 — 1.3014607 0.40457 + 2.252311 0
u= 0.634619 + 0.1405481 —1.62790 + 3.372401 3.27495 — 5.306851
u= 0.634619 — 0.1405481 —1.62790 — 3.372401 3.27495 + 5.306851




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= —0.638377 1.27831 8.28660
= 0.346920 4 1.3175101 1.41577 + 7.092321 0
= 0.346920 — 1.3175101 1.41577 — 7.092321 0
= 0.277893 + 1.3354101 —6.25104 + 6.753051 0
= 0.277893 — 1.3354101 —6.25104 — 6.753051 0

0.337361 + 0.5331021

—1.72047 + 6.620891

2.54306 — 8.398171

0.337361 — 0.5331021

—1.72047 — 6.620891

2.54306 + 8.398171

= —0.058345 + 1.3698001 —5.26507 — 3.022261 0
= —0.058345 — 1.3698001 —5.26507 + 3.022261 0
= —0.331323 + 1.3419101 —4.56299 — 6.720321 0
= —0.331323 — 1.3419101 —4.56299 + 6.720321 0

0.032432 + 1.3830401 —9.34182 + 0.078281 0
= 0.032432 — 1.3830401 —9.34182 — 0.078281 0
= 0.346087 + 1.3396901 0.08340 + 9.368041 0
= 0.346087 — 1.3396901 0.08340 — 9.368041 0
= 0.063733 + 1.3863701 —7.68595 + 7.774241 0
= 0.063733 — 1.3863701 —7.68595 — 7.774241 0
= —0.347692 + 1.3464701 —2.1926 — 14.43041 0
= —0.347692 — 1.3464701 —2.1926 + 14.43041 0

0.192189 + 0.5765991

—3.37572 — 0.517681

—1.48190 — 0.985511

0.192189 — 0.5765991

—3.37572 4- 0.517681

—1.48190 + 0.985511

—0.310416 4 0.4723681

0.42908 — 1.951681

6.05217 4 4.833111

—0.310416 — 0.4723681

0.42908 4 1.951681

6.05217 — 4.833111

0.499130 + 0.2511211

—0.85109 — 3.579781

5.03586 + 1.38706.1

0.499130 — 0.25112171

—0.85109 + 3.579781

5.03586 — 1.387061

—0.367153 4 0.2875131

0.979056 — 0.6790701

8.79507 + 4.863571

flg|e(g|e|(g|g|g|g|e|g|g|g|g|g|g|g|g|e|g|g|g|g|g|g ||

—0.367153 — 0.2875131

0.979056 + 0.6790701

8.79507 — 4.863571




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1, Co T —u—1
o W7 2T 4 — 1
Cs T+ Tu -+ 49u + 5
C4,C5, Co T u—1
cr wPT — w4 231u — 53
€8, C10 W+ u0 =290 — 17
11 w7 4+ 5u - — 264u — 112




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Ce YT+ 2Ty 4y — 1
C2 YT+ Ty =3y — 1
c: 57 226
3 Yy’ +3y”" + - — 519y — 25
C4, C5, Cy YT ATy ey — 1
cr y57 - 13y56 + -+ 82617y — 2809
C8, C10 y57 _ 37y56 4= 1267y — 289
11 y57 + 15y56 + .- — 381664y — 12544




